
Tuesday answers – divide by 5 
 

1.  What number sentences are the pictures showing? 

 

 

 
 

                     15 ÷ 5 = 3                                      20 ÷ 5 = 4         

                                                                   
 

2. Can you work out the division facts? 

20 ÷ 5 = 4                                         35 ÷ 5 = 7 

55 ÷ 5 = 11                                          45 ÷ 5 = 9 
 

   

3. Can you fill in the missing number division? 

  15 ÷ 5 = 3                                       0 ÷ 5 = 0 

          10 ÷ 5 = 2                                     25 ÷ 5 = 5                                                                           

     

4. Ali had 60 sweets. He shared them between 5 friends. How many sweets did they get each?  

 

 

                                                                                                                                  

 

 

5. Karl has 30 cupcakes. There are 5 cupcakes on each plate.  

        How many plates are there? 

 

 

         

6. Which number cannot create equal groups of 2 and 5? Explain why. 

 

 
 

15 cannot create equal groups of both 2 and 5 because it is an odd number. It is not in the 2 times table. It 
is only in the five times table. 10, 20 and 30 can be divide by 2 and 5. 

60 ÷ 5 = 12 

12 sweets 

30 ÷ 5 = 7 

7 cupcakes 

30 15 20 10 


